MATLAB Script for Question 2
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D=doubleildec2bin{SourcaMassage) | —48; % ASCII representation of the message in binary
[k;nl=aize{D); i numbar of charscters: ny numbar of bits per charactexr (7)
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w=rashaps(x, N, W) *; & arranhging bit waveforms
t1=0: 01/ a1 {1/He);

Lo=repmat {Acscos{2*pirfortl)  length{d) ;1)5 k- Local carrier
yIT=sum{Lo.*v, 2} /He; & Corralator

de={yT"'}=0; k. DEcisigng DEtacted bits
Dep=reshapei{de’ o, k) "+48; % Re-ganerate ASCII massage
RecsivedMessage=chsr {binddec{char (Dek} ) ! b Baceived Message

BER = length(find (aba (de—d) )1/ H; & Bit EfFror Rate




